
 

 

 

 

                                   

                              

 

 

 

 

                   xsbfaL ;DaGwL #% lbg] cToGt h?/L ;"rgf 

 

tklzndf pNn]v ePsf] JolQmsf] d[To' ePsf]n] tklzndf pNn]lvt z]o/x? d]/f] gfddf gfd;f/L bf= vf= -bflvnf vf/]h_ btf{ 

u/L kfpF egL lgh d[tssf kTgL gftf kg]{ tn pNn]v eP adf]lhdsf] ljj/0f ePsf] JolQmn] o; sDkgLdf lgj]bg lbg' ePsf] 

x'gfn] lgh d[tssf] gfdsf] tklzn adf]lhdsf z]o/x?df s;}sf] xsbfaL nfUg] eP of] ;"rgf k|sflzt ePsf] ldltn] #% lbg 

leq cfkm\gf] k|df0f ;lxt o; sDkgLdf xsbfaL ug{ cfpg' xf]nf . pNn]lvt Dofb leq kg{ gcfPsf] xsbfaL pk/ s'g} sf/jfxL 

gx'g] / lgj]bssf] dfu adf]lhd eO{ hfg] Joxf]/f ;DalGwt ;a}sf] hfgsf/Lsf] nflu of] ;"rgf k|sflzt ul/Psf] 5 . 

                                                               

                                                        tklzn 

qm=d

= 

d[tssf] gfd 7]ufgf / tLg k':t] 

ljj/0f 

xsbfjL ug]{sf] gfd, 7]ufgf, tLg 

k':t] ljj/0f / gftf 
z]o/ /x]sf] sDkgLsf] gfd 

z]o/ 

;+Vof 

-lsQf_ 

!= 

 

 

 

 

 

 

gfd M gGb s'df/ zfSo 

afa'sf] gfd M OGq k|;fb zfSo 

kTgLsf] gfd M l6s;/f zfSo  

:yfoL 7]ufgf M rg}k'/,;+v'jf;ef 

-lxtu|fxL vftf g+=   

!#)!#&))—))!*(%)^ _ 

 

 

gfd M l6s;/f zfSo 

afa'sf] gfd M df]lt /fh zfSo 

afh]sf] gfd M nIdL /fh zfSo 

:yfoL 7]ufgf M Gx'axfn— , 

nlntk'/ 

d[ts;+usf] gftf M kTgL 

-lxtu|fxL vftf g+= M  

!#)!#&))–))!*(%!) _ 

s[lif ljsf; a}+s ln=(ADBL) @#) 

l;l6hG; a}+s OG6/g];gn ln=(CZBIL) ^% 

Pe/]i6 a}+s ln= (EBL) !#(# 

lxdfnog a}+s ln= (HBL) !*( 

lxdfnog xfO8«f]kfa/ ln=(HHL) !))) 

hnljB't nufgL tyf ljsf; s=ln 

(HIDCL) 
%* 

cfOPdO{ hg/n OG:of]/]G; sDkgL 

ln= (IGI) 
!&@ 

s'df/L a}+s ln= (KBL) ^%^ 

n'lDagL ljsf; a}+s ln =(LBBL) @% 

nIdL ;g/fO{h a}+s ln=(LSL) **) 

Dff5fk'5]| a}+s  ln=(MBL) &*$ 

dfxfnIdL ljsf; a}+s ln= =(MLBL) ^# 

gljn a}+s ln= (NABIL) @)^ 

g]zgn xfO{8«f] kfj/ sDkgL 

ln=(NHPC) 
@^^ 

Pg cfO{ ;L Plzof  a}+s ln= (NICA) $^$ 

g]kfn OGe]i6d]G6 d]uf a}s ln=-NIMB_ %! 

g]zgn nfO{km O{G:of]/]G;  

sDkgL ln=(NLICL) 
#!$ 

Pg Pd la a}+s ln=(NMB) !$* 

g]kfn b'/;+rf/ sDkgL ln= (NTC) !@) 

cf]l/o06n xf]6N; lnld6]8=-OHL_ $) 

k|fOd sdl;{on a}+s  ln=(PCBL) !@^ 

k|e' a}+s ln= (PRVU) ^)!% 

Tff/fufpF l/h]G;L xf]6n ln= (TRH) !) 

    

 


